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Knitted Shawl in 8 Ply Bloom

Measurement & Yarn Requirements
Shawl = approx 160cm x 35cm and will require 
1 x 200g ball of Bloom

Yarn quantities can vary and are therefore 
approximate requirements. Use only 
Bendigo yarns as specified.

ACCESSORIES
A 60 - 80cm long 6.50mm circular knitting 
needle or size needle to give correct tension. 

ABBREVIATIONS
K = knit, kfb = knit into front and back of 
stitch to make a stitch, rep = repeat, 
st/s = stitch/es, tog = together.

TENSION
13.5 stitches and 28 rows to 10cm over garter 
stitch using 6.50mm needles. Correct tension 
is not essential for this shawl, however, stated 
measurements and yarn quantities are based 
on this tension.

SHAWL
Using 6.50mm circular needle cast on 5 sts.
1st Row: K1, kfb, knit to 2 sts before end of 
row, K2tog.
2nd Row: Knit to 2 sts before end of row, kfb, K1.
Rep last 2 rows, until there are 120 sts, or 
approx 4 metres of yarn left. 
Cast off, and sew in ends.

Crochet Shawl in 8 Ply Bloom

Measurement & Yarn Requirements
Shawl = approx 160cm x 35cm and will require 
1 x 200g ball of Bloom

Yarn quantities can vary and are therefore 
approximate requirements. Use only 
Bendigo yarns as specified. 

ACCESSORIES
A 6.00mm crochet hook.

ABBREVIATIONS
ch = chain, dc = double crochet, rep = repeat, 
tr = treble crochet, tr2tog = yarn over hook, 
insert hook into next stitch yarn over hook, 
draw a loop through, yarn over hook and draw 
through 2 of the loops on hook (2 loops left 
on hook), repeat into next stitch (3 loops on 
hook), yarn over hook and draw through all 
loops on hook to complete.

SHAWL
Note: Mark the stitch at the beginning of 
every row, this will make it easier to identify 
where to start the next row.
Using a 6.00mm hook, loosely make 10ch, 
miss 1ch, dc into back bumps of ch, turn. 9dc.
1st Row: 1ch, (dc, tr, dc) into first stitch, *1tr 
in next st, 1dc in next st, rep from * to last 2 
stitches, tr2tog, turn.
2nd Row: 1ch, miss tr2tog, *1tr into dc, 1dc 
into tr, rep from * to last st, (tr, dc, tr) in last 
stitch, turn.
Rep last 2 rows until shawl is desired size or 
until yarn is finished, fasten off, and sew in 
ends.

Knitted Scarf in 8 Ply Bloom

Measurement & Yarn Requirements
Scarf = Approx 180cm x 20cm and will require 
1 x 200g ball of Bloom

Yarn quantities can vary and are therefore 
approximate requirements. Use only 
Bendigo yarns as specified.

ACCESSORIES
An 80 - 100cm long 6.50mm circular knitting 
needle or size needle to give correct tension.

TENSION
13.5 stitches and 28 rows to 10cm over garter 
stitch using 6.50mm needles. Correct tension 
is not essential for this scarf, however, stated 
measurements and yarn quantities are based 
on this tension.

SCARF
Using 6.50mm circular needle, cast on 234 
stitches.
Knit every row until scarf measures 20cm.
Cast off very loosely and sew in ends.


